
W
I
N
N
E
R
S

W
I
N
N
E
R
S

WINNERS

MEKKATT SHOPPING COMPLEX, MUNDUR, THRISSUR

Ph :9846769493, 83040054851 E-mail : winnersmundur@gmail.com

WINNERS PSC COACHING CENTRE

WINNERS

Name : ............................

Date : ................................

Total time    : 75 min

Total marks : 100LDC CRACKER EXAM - 1
1. temIsØ F{X kab taJ-e-I-fmbn Xcw Xncn-®n-cn-

°p∂p ?
a) 24 b) 14 c) 12 d) 15

2. bp.F≥.sk-{I-´dn P\-d¬ Bb At‚mWntbm
Kp´dkv GXp cmP-y-°m-c-\mWv?

a) s]dp    b) Lm\    c) t]m¿®-p-K¬   d) t\m¿sh
3. A¥m-cmjv{S ]b¿ h¿jambn BN-cn-®Xv?

a) 2016 b) 2014 c) 2015 d) 2012
4. temI apfZn\w?

a) sabv 22 b) am¿®v 30
c) Pqsse 29 d) sk]v‰w-_¿ 18

5. G‰hpw ssZ¿L-y-ta-dnb tZiob Km\-ap≈ cmP-y-taXv ?
a) tdmw  b) {Kokv    c) hnb‰v\mw    d) ssk{]kv

6. cmP-ym-¥c inip-\n-[n-bpsS Bÿm\w?
a) tdmw   b) P\oh   c) ]mcokv     d) \yq-tbm¿°v

7. Idp∏p hym-]mcw GXv cmPy-hp-ambn _‘-s∏-´n-cn-°p∂p?
a) {^m≥kv  b) Ata-cn°   c) ssN\   d) djy

8. _mkv°‰v t_mƒ Ifn-°m-cpsS FÆw?
a) 5 b) 6 c) 7 d) 8

9. se≥kv {]nkw F∂nh \n¿Ωn-°m≥ D]-tbm-Kn-°p∂
•mkv ?

a) lm¿Uv •mkv       b) ^vfn‚ v •mkv
c) tkmUm- •mkv    d)t_mtdm knen-t°‰v •mkv

10.Bh¿Ø-\-]-´n-I-bn¬ G‰hpw IqSp-X¬ CeIvt{Sm s\K-
‰ohv D≈ aqeIw?

a) HmIvkn-P≥ b) t¢mdn≥
c) ^vfqdn≥ d) ss\{S-P≥

11. Ir{X-na ag s]øn°m≥ D]-tbm-Kn-°p∂ ehWw ?
a) ss\{S-P≥ HmIvsskUv  b) Im’yw kƒt^‰v
c) kn¬h¿ Ab-ssUUv d) Im’yw HmIvsskUv

12. Xm]-\n-e-bpsS SI bqWn‰v?
a) Itemdn b) sI¬hn≥
c) Un{Kn sk¬j-ykv d) Pqƒ

13. Hcp k¿I-yq-´nse {]Xn-tcm[w am‰m≥ Ign-hp≈ D]-I-c-
W-am-Wv?

a) thmƒ´v sk¬ b) P\-td-‰¿
c) tkmtWm-ao-‰¿ d) dnt-bm-Ãm‰v

14. sshZ-ypX Im¥-ß-fpsS \n¿Ωm-W-Øn\v D]tbm-Kn-°p-
∂Xv ?

a) A¬\nt°m b) Dcp°v
c) hm¿∏n-cpºv d) ]®ncpºv

15.lotam-t•m-_n-\n¬ AS-ßn-bn-cn-°p∂ temlw?
a) sNºv b) Ccpºv c) a·o-jyw d) kn¶v

16. t]mUn-bm{Sn GXv Ah-b-h-ßƒ°p≈ NnIn’m hn`m-K-
amWv?

a) IÆv b) s\©v    c) aq{Xm-ibw d) ]mZw
17. aZ-y-]m-\n-I-fn¬ G‰hpw Ipdhv ImW-s∏-Sp∂ ssh‰-an≥?

a) Xbm-an≥         b) AkvtIm¿_nIv BknUv
 c) \nbm-kn≥         d) ssdt_m-^vfm-hn≥

18.A¬°-l-cnXv GXv ]®-°-dn-bpsS C\-amWv?
a) apfIv b) ]b¿ c) ]mh¬ d) aØ≥

19. \mev Bcy kX-y-ßƒ GXp-ambn _‘-s∏-´n-cn-°p∂p?
a) ssP\-aXw b) lnµp-aXw
c) knJvaXw d) _p≤-aXw

20.‘tZho-N-{µ-Kp]vX’ F∂ {KŸ-Øns‚ I¿Ømhv?
a) _mW-`-´≥ b) hnim-J-Z-Ø≥
c) Bc-y-`-´≥ d) Aa-c-knw-l≥

21. 1585 ˛ 1598 Ime-L-´-Øn¬ apKƒ km{am-P-yØns‚ Xe-
ÿm\ \-Kcn GXm-bn-cp∂p ?

a) B{K b) ^tØ-∏q¿kn{In
c) emtl-m¿ d) jmP-lm-\m-_mZv

22.{`wi Xmgvhcbn-eqsS Hgp-Ip∂ C¥-y-bnse GI \Zn
GXmWv?

a) IrjvW b) Xm]vXn c) Imthcn d) \¿ΩZ
23.t{Sm∏n°¬ t^md-kv{Sn-bpsS ]nXmhv ?

a) B¿.-F-kv {Sq∏v              b) Pm°v shtÃm_n
c) sP.-Fkv Kmw_n¿         d) Ub-{Sn®v {_m≥Unkv

24.Xmsg-sIm-Sp-Øn-cn-°p-∂-h-bn¬ {]X-y£ \nIp-Xn-tbXv?
a) tIm¿∏-td‰v \nIpXn b) tkh\ \nIpXn
c) hnt\mZ \nIpXn d) hn¬∏\ \nIpXn

25.C¥y-bpsS {]mtZinI Znim \n¿Æb kwhn-[m-\-amb
\mhn-°n¬ F{X D]-{K-l-ßƒ D≠v?

a) 5 b) 7 c) 9 d) 11
26.ao‰¿tKPv ]mf-ßƒ XΩnep≈ AIew?

a) 1.678 ao‰¿ b) 0.762 ao‰¿    c) 1 ao‰¿ d) 1.5 ao‰¿
27.C¥-y-bpsS BZy h\nXm k¿h-I-em-im-e-bpsS ÿm]-I≥ ?

a) kn.-cm-P-tKm-]m-em-Nmcn b) Pn.Pn AKm¿°¿
c) kønZv Al-ΩZv d) Un.sI Im¿sh

28.C¥-y-bnse G‰hpw henb c≠m-asØ kwÿm\w GXv?
a) alm-cmjv{S b) cmP-ÿm≥
c) PΩp-Im-ivao¿ d) a≤-y-{]-tZiv

29.1857 se Iem-]-Øn\v eIv\u-hn¬ t\Xr-Xzw \¬Inb
t\Xmhmcv?

a) _l-Zq¿jm            b) dmWn e£vao-`mbv
c) \m\m-km-ln_v       d) _oKw l{kØv al¬

30.Izn‰v C¥ym {]tabw ]m m-°nb tIm¨{Kkv ktΩ-f\w?
a) emtl-m¿ ktΩ-f\w b) kqd‰v ktΩ-f\w
c) apwss_ ktΩf-\w d) I¬°Ø ktΩ-f\w

31. cmP-y-k-`mw-K-am-Im-\p≈ Ipd™ {]mbw?
a) 25 b) 35 c) 30 d) 21

32.[\-_n¬ BZyw AhXcn∏n-°p-∂Xv Fhn-sS-bmWv?
a) cmP-y-k-`-bn¬ b) temIvk-`-bn¬
c) a{¥n-k-`m-tbm-K-Øn¬ d) Ch-sbm-∂p-a√

33.aq∂v h´-taik-tΩ-f-\-ßfnepw ]s¶-SpØ C¥-ym-°m-c≥?
a) Awt_-Zv°¿   b) ]t´¬ c) s\lvdp d) Km‘nPn

34.1919 ¬ cq]o-I-cn® knhnIv ssd‰vkv eoKns‚ t\Xmhv Bcm-
bn-cp∂p?

a) C.sP tPm¨   b) Ipc-ym-t°mkv Gen-bmkv Nhd
c)F≥ hn tPmk^v          d) Sn.Fw h¿§okv

35.20˛mw \q‰m-≠ns‚ XpS°w hsc \ºq-Xncn kv{XoIƒ°v
Xs‚ ]cn-ip≤n sXfn-bn-°p-∂-Xn-\mbn \¬In-bn-cp∂
in£m-hn[n GXv?

a) At\-ym\yw b) lnc-W-y-K¿`w
c) D]-kw-hmXm d) kvam¿≤ hnNmcw

36.E.M.S cNn® BZy ]pkvXIw ?
a) Ht∂-Im¬ tImSn ae-bm-fn-Iƒ
b) Ph-l¿em¬ s\lvdp
c) tIcfw ae-bm-fn-I-fpsS amXr-`qan
d) Km‘nbpw Km‘nkhpw

37.KSRTC cq]o-I-cn® h¿jw?
a) 1957 b) 1959 c) 1965 d) 1963

38.A¿Pp\ Ahm¿Uv t\Snb BZy ae-bmfn h\nX?
a) sI.Fw _o\m-tamƒ b) ]n.‰n.-D-j
c) Fw.Un h¬kΩ d) sI.kn GeΩ

39.N°-bpsS imkv{Xob \maw?
a) Musa acuminata     b) Artocarpus heterophyllus
c) Annona muricata          d) Ficus religiosa

40.tIc-f-Øn¬ G‰hpw Ipd®v IS¬Øo-c-ap≈ Pn√?
a) IÆq¿ b) Fd-Wm-Ipfw
c) sIm√w d) ]Ø\w-Xn´

41. tNme-\m-bv°¿ F∂ BZn-hmkn hn`m-KsØ IqSp-X-embn
ImW-s∏-Sp∂ ÿew?

a) \ne-ºq¿ h\w b) hb-\mSv
c) CSp°n h\w d) A´-∏mSn

42.thep-Øºn Zf-h-bpsS P∑-ÿew?
a) ]d-hq¿   b) I¬°pfw  c) aÆSn   d) Imbw-Ipfw

43.Xncp-hn-Xmw-Iq¿ tÃ‰v tIm¨{K- ns‚ BZy A≤-y-£≥
Bcm-bn-cp∂p ?

a) sI.-tI-f-∏≥ b) ]n.-Ir-jvW-]n≈
c) sI.]n tIi-h-ta-t\m≥ d) ]´w XmWp-]n≈

44.t£{X {]th-i\ hnfw-_cw FgpXn Xøm-dm-°n-b-Xmcv ?
a) D≈q¿ b) Ipam-c-\m-im≥
c) {io. NnØnc Xncp-\mƒ     d) kn.-cm-P-tKm-]m-em-Nmcn

45.Bio - fuel \bw \S-∏n-em-°nb BZy C¥-y≥ kw-ÿm\w?
a) tIcfw  b) cmP-ÿm≥ c) lcn-bm\ d) ]©m_v

46.tIcf kmln-Xy A°m-Z-an-bpsS \ne-hnse sNb¿am≥?
a) t\aw ]pjv]-cmPv b) sshim-J≥
c) Ia¬ d) se\n≥ cmtP-{µ≥

47.Ip‰-hmfn ssIam‰ _n√n-s\-Xnsc {]Xn-tj[w \S-°p-∂-
sX-hn-sS ?

a) tlmMvtImMv  b) ^n≥em‚ v  c) ssN\   d) ^nPn
48.kwÿm\ kvIqƒ ImbnI taf 2019 thZn ?

a) Fd-Wm-Ipfw b) Xncp-h-\-¥-]pcw
c) IÆq¿ d) tImgn-t°mSv
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49.tI{µ am\h hn`-h-tijn a{¥n?
a) kvarXn Cdm\n b) ctajv s]m{In-bm¬
c) A¿Pp≥ap≠ d) {]Imiv Pmh-tZ-°¿

50.2018 ]fl{]`m ]pc-kvImc tPXmhv?
a) Iev]‰ \mcm-b-W≥ b) sI.hn taml-\-Ip-am¿
c) C.hn cma-Ir-jvW≥ d) F≥.-Fkv am[-h≥

51. Xmsg sImSp-Øn-cn-°p-∂-h-bn¬ IrØn\v DZm-l-cWw?
a) anX-Xzw b) sshbm-I-c-W≥
c) kµ¿i\w d) Io¿Øn-am≥

52.kao]w F∂¿∞w h-cp∂ hm°v?
a) \nISw b) \nJSw c) \nKSw d) \nLSw

53.Icm-c-hnµw F∂ ]Zw hn{K-ln-s®-gp-Xn-bm¬ In´p-∂--sX¥v?
a) Ic-am-Ip∂ Ac-hnµw      b) Ichpw Ac-hn-µhpw
c) Ac-hn-µw-t]m-ep≈ Icw d) Ic-Øns‚ Ac-hnµw

54.Aw_n-Im-kp-X≥ aßm-Sns‚ ‘F≥aIsP’ F∂ t\mh-
ense {][m\ ImYm-]m-{X-amWv?

a) {iocm-a≥ b) ]c-ta-i-z-c≥
c) {ioIr-jv-W≥ d) \oe-I-WvT≥

55.‘Ac-ssh-Z-y≥ Bsf-s°m√n’ F∂ sNm√ns‚ Bi-b-hp-
ambn _‘-ap-≈Xv?

a) B[n-Xs∂ hym[n   b) Aev]-⁄m\w B]Øv
c) AØmgw Ac-h-b¿ d) sFI-y-a-Xyw alm-_ew

56.km£n F∂ ImcIw A¿∞w hcp∂ hn`‡n?
a) kwtbm-PnI b) B[m-cnI
c) {]tbm-PnI d) {]Xn-{Km-lnI

57.Fkv.-sI.-s]m-‰-°mSv IYm-]m-{X-ambn hcp∂ t\mh¬?
a) A‘-Im-c-\mgn b) Xtam-thZw
c) {]hmkw d) Bcm-®m¿

58. ‘One who is driven to the wall’ F∂-Xns‚ icn-bmb
A¿∞w?

a) HmSn-t∏m-b-h≥ b) HmSn-®-h≥
c) KXn-sI-´-h≥ d) an-Sp-°≥

59.icn-bmb ]Zw Xnc-s™-Sp-°pI?
a) A≤-ym-floIw b) A[-ym-floIw
c) B≤-ym-flnIw d) B[-ym-floIw

60.cmh-W≥ F∂ cm£-k≥ ASn-h-c-bn´ ]Zw GXp i_vZ-
hn-`m-K-Øn¬s∏-Sp∂p?

a) hmNIw b) hn`‡n c) hN\w   d) tZym-XIw
61. I haven’t seen her _________ last thirty years

a) for b) since c) to d) On
62.Which is the singular word among the following?

a) bacteria b) strata c) larva d) criteria
63.The word synonymous with ‘conceal’ is?

a) delirious b) deliquesce
c) deleneate d)delitesence

64.Mary _________  I met yesterday, called me back
a) who b) whose c)which d) whom

65.Neither he or his friend _________ arrived
a) is b) has c) have d) was

66.your boss would consider you, If _________
a) you were punctual b)You are punctual
c) you had been punctual      d)you have been punctual

67.Find out the wrong part of the sentence?
a) One of the woman b) in the city
c) who won the award d) was my friend

68.The cow is grazing _________ the farm
a) On b)in c) at d)of

69.choose the correctly spelt word?
a) enemity b) enmity   c) enemiti    d) enemety

70.Nobody saw it, _________ ?
a) did they b) do they
c) didn’t they d) don’t they

71. Select proper one word substitute for?
“An impartial person who watches for administrative abuse
inside organization

a) Philanthropist b) Ombudsman
c) Turncoat d) Reticent

72.While visiting Egypt I went to see _________ Nile
a) a b) an        c) the          d) no article

73.Your story is  _________ than grandma’s
a) funny b) funnier c) fun d) funniest

74.A Latin word which means “the most important work of
an artist,writer etc”.?

a) Memento b) Magnumopus
c)Mongue d)mot juste

75.Find out the synonym of the word ‘peer’?
a) competitor   b) Twin c) Prejudice  d) Equal

76.pick out the suitable collective noun. A  _________  of
musicians

a) crowd b) shoal c) crew d) band
77.“I saw this film a week ago” he said  He said that?

a)  He saw the film a week ago
b)  He had seen the film a week before

c) He saw the film a week before
d) He had seen the film a week ago

78.You had better _________  to the shop?
a) walking b) walks c) to walk d) walk

79.Somebody _________ the book
a) have taken b) taken    c) is taken    d) has taken

80.‘Dog’ is to puppy , ‘Goat’ is to?
a) lamb b) Kid c) Kitten d) cub

81. A bpsS ssIh-i-ap≈ XpI-bpsS 2/5 `mK-amWv B bpsS
ssIh-i-ap-≈X.v B bpsS ssIh-i-ap≈ XpI-bpsS
7/9 `mK-amWv C bpsS ssIh-i-ap-≈Xv. aq∂p-t]-cp-sSbpw
ssIh-i-ap≈ XpI 770 cq]-bm-bm¬ AbpsS ssIh-i-
ap≈ XpI F{X?

a) 400 cq] b) 425 cq] c) 450-cq] d) 500-cq]
82._ml-y-tIm¨ 450 Bb Hcp ka-`p-P-Øn\v F{X hi-ßƒ

D≠v?
a) 5 b) 6 c) 7 d) 8

83.25 en‰¿ s]t{Smƒ D]-tbm-Kn®v Hcp Im¿ 150 In.an Zqcw-
k©cn°p-∂p-sh-¶n¬ 30 en‰¿ s]t{Smƒ D]-tbm-Kn®v B
Im¿ F{X Zqcw k©-cn°pw?

a) 160 In.an b) 170 In.an c) 180 In.an d) 190 In.an
84.Hcp t^mt´m-bnse kv{Xosb Nq≠n-°m´n F¬tZm ]d-

™p. Ch-cpsS AΩ-bpsS ktlm-Z-c≥ Fs‚ AΩbpsS
A—s‚ Htc Hcp aI-\mWv, F¶n¬ F¬tZm-bv°v Cu
kv{Xobpam-bp≈ _‘-sa-¥mWv?

a) AΩ   b) ktlm-Zc≥   c) apØ»n d) AΩmbn
85.Xmsg X∂n-cn-°p-∂-h-bn¬ Iq´-Øn¬ s]SmØ kwJy

GXv?
a) 1000  b) 8000 c) 16000 d) 27000

86.Hcp t¢m°n¬ 4 aWn-bm-Ip-tºmƒ aWn-°q¿ kqNnbpw
an\n´v kqNnbpw XΩn-ep≈ tImW-fhv F{X?

a) 900 b) 1050 c) 1200 d) 1600

87.441 : 462 :: 841  :  x Bbm¬  x F{Xì?
a) 800 b) 830 c) 860 d) 870

88.c≠v kwJ-y-I-fpsS XpI 90. Ah-bpsS hy-X-ymkw 42
F¶n¬ AXnse henb kwJy GXv?

a) 48 b) 24 c) 66 d) 45
89.15 t]cp≈ Hcp kwL-Øns‚ icm-icn Xq°w 30 In.{Kmw.

CXn¬ \n∂v 25 In.{Kmw Xq°-ap≈ Hcmƒ ]pd-Øp- t]mbn
as‰m-cmƒ kwL-Øn¬ tN¿∂-t∏mƒ icm-icn 32 In.{Kmw
Bbn ]pXp-Xmbn h∂ BfpsS Xq°w F{X?

a) 45  b) 35 c) 55 d) 65
90. A,D,H,M  ............... F∂ t{iWn-bnse ASpØ ]Z-taXv?

a)  N b) S c) P d) R
91. Hcp ka-N-Xp-c-°-´-bpsS Hcp hiw 3.6 sk.an Bbm¬

AXns‚ hym]vXw ImWpI?
a)  12.962  b) 46.656 c) 36.655 d) 46.966

92.A\p ho´n¬ \n∂v 16 ao‰¿ hS-t°m v́ \S-∂p. AXn-\p-tijw
CS-tØm´v Xncn™v 18 ao‰¿ \S∂p ho≠pw CS-tØm´v
Xncn™v 16 ao‰¿ \S-∂-Xn-\p-tijw ho≠pw CS-tØm´v
Xncn™v 37 ao‰¿ IqSn \S-∂-t∏mƒ kvIqfn¬ FØn.
F¶n¬ Ah-fpsS kvIqƒ hn´n¬ \n∂v F{X Zqcw AIse
GXv Zni-bn¬?

a) 18 ao‰¿ Ing°v b) 19 ao‰¿ sX°v
c) 19 ao‰¿ ]Sn-™mdv d) 19 ao‰¿ Ing°v

93.9 t]c-S-ßp∂ kwL-Ønse F√m-hcpw ]c-kv]cw lkvX-
Zm\w sNbvXm¬ BsI F{X lkvX-Zm\w \S-∂n-cn°pw?

a) 36 b) 81 c) 72 d) 38
94.Hcp kwJ-y-bpsS 20% Ønt\mSv 48 Iq´n-bm¬ AtX kwJy

In´pw F¶n¬ kwJy GXv?
a) 50 b) 52 c) 60 d) 70

95.Hcp I-®-h-S-°m-c≥ hmßnb F√m t]\-Ifpw hn‰p. 8 t]\-
bpsS hmßnb hnebpw 10 t]\-bpsS hn‰-hn-ebpw Xpe-y-
am-bm¬ em`tam \jvStam ? F{X iX-am\w?

a) 20% \jvSw b) 10%em`w c) 10%\jvSw  d) 20%em`w
96.A bv°v Hcp tPmen sNøm≥ 50 Znhkw thWw. F∂m¬

Bbv°v 40 Znhkw aXn. c≠p-t]cpw IqSn 10 Znhkw tPmen
sNbvXp. AXn-\p-tijw  A If-™n-´p-t]m-bn. _m°n
tPmen  B H‰bv°v F{X Znhkw sIm≠v sNbvXp Xo¿°pw?

a) 11 Znhkw b) 18 Znhkw c) 22 Znhkw d)26 Znhkw
97. a * b = √ab Bbm¬  (8*18)*3  F{X?

                      (144*9)*49
a) 36/42  b) 36/7 c) 1/7 d) 7

98.Hcp tKmf-Øns‚ D]-cn-Xe ]c-∏-fhv 100π N sk.an
Bbm¬ AtX Bc-ap≈ A¿[-tKm-f-Øns‚ D]-cn-Xe
]c-∏-fhv F{X N. sk.an?

a) 25π b) 50π    c) 75π d) Ch-sbm-∂p-a√
99.eLq-I-cn-°pI (220 ÷215)×23?

a) 217 b) 27 c) 210 d) 28

100. A  =3
/5 B,  B  = 1/4 C  Bbm¬  A:B:C  F{X ?

a) 3:5:4î b) 3:5:20 c) 3:1:4  d) 5:4:3


